25-63-A Clamps, Fittings, & Pipe Monday, April 7, 2025 at 2:30pm	T	otal Cost		& Main LP 6,361.04		WATERWORKS 7,948.44
		nit	Ψ5.	0,002.01	ţ337	,5 .6
	Quantity of	Unit	T	otal	Unit	Total
Items	Required M	easure Price	С	ost	Price	Cost
2"x3" Repair Clamp	3 ea	ich	\$22.19	\$66.57	\$29.13	\$87.39
2"x7-1/2" Full Circle Clamp	3 ea	ich	\$69.54	\$208.62	\$53.26	\$159.78
4"x7-1/2" Full Circle Clamp	3 ea	ich	\$78.17	\$234.51	\$71.94	\$215.82
4"x12-1/2" Full Circle Clamp	3 ea	ich	\$115.58	\$346.74	\$117.90	\$353.70
6"x7-1/2" Full Circle Clamp	8 ea	ich	\$80.79	\$646.32	\$84.90	\$679.20
6"x 12-1/2" Full Circle Clamp	8 ea	ich	\$124.36	\$994.88	\$135.80	\$1,086.40
6"x15" Full Circle Clamp	8 ea	ich	\$144.67	\$1,157.36	\$157.81	\$1,262.48
6"x20" Full Circle Clamp	8 ea	ich	\$201.22	\$1,609.76	\$228.65	\$1,829.20
6"x7-1/2" Full Circle Clamp (3/4"Corp Clamp)	4 ea	ich	\$103.08	\$412.32	\$119.27	\$477.08
6"x 12-1/2" Full Circle Clamp (3/4" Corp Clamp)	4 ea	ich	\$146.34	\$585.36	\$170.16	\$680.64
6" x 15" Full Circle Clamp (3/4" Corp Clamp)	4 ea	ich	\$167.34	\$669.36	\$192.17	\$768.68
8"x7-1/2" Full Circle Clamp	6 ea	ich	\$91.16	\$546.96	\$101.56	\$609.36
8"x12-1/2" Full Circle Clamp	6 ea	ich	\$134.51	\$807.06	\$162.63	\$975.78
8"x 15" Full Circle Clamp	6 ea	ich	\$162.57	\$975.42	\$193.80	\$1,162.80
8"x20" Full Circle Clamp	6 ea	ich	\$222.14	\$1,332.84	\$268.48	\$1,610.88
8"x 7-1/2" Full Circle Clamp (3/4" Corp Clamp)	4 ea	ich	\$113.21	\$452.84	\$135.94	\$543.76
8"x 12-1/2" Full Circle Clamp (3/4" Corp Clamp)	4 ea	ich	\$156	\$624	\$197.01	\$788.04
8"x 15" Full Circle Clamp (3/4" Corp Clamp)	2 ea	ich	\$184.47	\$368.94	\$228.18	\$456.36
10"x10" Full Circle Clamp	2 ea	ich	\$146.80	\$293.60	\$167.02	\$334.04
10"x15" Full Circle Clamp	2 ea	ich	\$204.16	\$408.32	\$242	\$484
12"x12 1/2" Full Circle Clamp	5 ea	ich	\$188.28	\$941.40	\$224.40	\$1,122.00
12" x 7.5" Full Circle Clamp	5 ea	ich	\$126.63	\$633.15	\$177.40	\$887.00
12"x15" Full Circle Clamp	4 ea	ich	\$222.57	\$890.28	\$278.84	\$1,115.36
12"x20" Full Circle Clamp	2 ea	ich	\$296.77	\$593.54	\$368.30	\$736.60
12"x 12.5" Full Circle Clamp (3/4" Corp Clamp)	1 ea	ich	\$208.86	\$208.86	\$219.81	\$219.81
12"x 15" Full Circle Clamp (3/4" Corp Clamp)	1 ea	ich	\$243.20	\$243.20	\$313.21	\$313.21
14" x 15" Full Circle Clamp	1 ea	ich	\$356.49	\$356.49	\$548.18	\$548.18
14" X 20" Full Circle Clamp	1 ea	ich	\$483.51	\$483.51	\$741.12	\$741.12
16" X 20" Full Circle Clamp	1 ea	ich	\$511.57	\$511.57	\$785.84	\$785.84
6" X 3/4" Brass Strap Saddle	6 ea	ich	\$129.38	\$776.28	\$120.04	\$720.24
8" X 3/4" Brass Strap Saddle	2 ea		\$160.11	\$320.22	\$148.56	
10" X 3/4" Brass Strap Saddle	2 ea		\$198.36	\$396.72	\$184.12	
12" X 3/4" Brass Strap Saddle	2 ea		\$232.14	\$464.28	\$215.39	\$430.78
6" X 1" Brass Strap Saddle	1 ea		\$129.38	\$129.38	\$120.04	\$120.0 ²
8" X 1" Brass Strap Saddle	1 ea		\$160.11	\$160.11	\$148.56	
10" X 1" Brass Strap Saddle	1 ea		\$198.36	\$198.36	\$184.06	\$184.06

12" X 1" Brass Strap Saddle	1 each	\$232.14	\$232.14	\$215.39	\$215.39
6" X 1-1/2" Brass Strap Saddle	1 each	\$147.90	\$147.90	\$137.23	\$137.23
8" X 1-1/2" Brass Strap Saddle	1 each	\$168.58	\$168.58	\$156.41	\$156.41
10" X 1-1/2" Brass Strap Saddle	1 each	\$217.83	\$217.83	\$202.11	\$202.11
12" X 1-1/2" Brass Strap Saddle	1 each	\$261.83	\$261.83	\$242.94	\$242.94
6" X 2" Brass Strap Saddle	1 each	\$162.51	\$162.51	\$150.78	\$150.78
8" X 2" Brass Strap Saddle	1 each	\$183.50	\$183.50	\$170.26	\$170.26
10" X 2" Brass Strap Saddle	1 each	\$233.97	\$233.97	\$217.08	\$217.08
12" X 2" Brass Strap Saddle	1 each	\$266.56	\$266.56	\$247.32	\$247.32
12 A 2 Brass strap saddic	1 64611	Ψ200.30	7200.30	Ç2 17.32	Ψ2 17.32
3/4" Tapered Thread X Comp Corporation	25 each	\$40.43	\$1,010.75	\$37.52	\$938.00
3/4" Straight Thread X Comp Corporation	25 each	\$40.43	\$1,010.75	\$37.52	\$938.00
3/4" MIP X Comp	25 each	\$18.53	\$463.25	\$17.20	\$430.00
3/4" Comp x Comp	60 each	\$22.58	\$1,354.80	\$20.95	\$1,257.00
1" Tapered Thread X Comp	15 each	\$61.14	\$917.10	\$56.73	\$850.95
1" Straight thread X Comp Corporation	15 each	\$61.14	\$917.10	\$56.73	\$850.95
1" MIP X Comp	15 each	\$21.94	\$329.10	\$20.36	\$305.40
1" Comp x Comp	60 each	\$25.82	\$1,549.20	\$23.96	\$1,437.60
1-1/2" Tapered Thread X Comp	1 each	\$176.28	\$176.28	\$163.56	\$163.56
2" Tapered Thread X Comp	2 each	\$291.56	\$583.12	\$270.52	\$541.04
1-1/2" MIP X Compression	2 each	\$176.28	\$352.56	\$55.80	\$111.60
2" MIP X Compression	2 each	\$291.56	\$583.12	\$81.29	\$162.58
2" Comp X Comp	10 each	\$116.63	\$1,166.30	\$108.22	\$1,082.20
2" FIP x Comp	2 each	\$91.58	\$183.16	\$85.05	\$170.10
2" Comp 90	4 each	\$243.43	\$973.72	\$225.87	\$903.48
MH 14277K 2" cts comp x flg angle mtr stop	4 each	\$374.54	\$1,498.16	\$356.71	\$1,426.84
1" Coupling Copper Comp By Female Iron Pipe	10 each	\$26.46	\$264.60	\$26.74	\$267.40
1" Coupling Copper Comp By Male Iron Pipe	10 each	\$21.94	\$219.40	\$20.62	\$206.20
2" Coupling 90 Degree Comp by Comp	4 each	\$243.43	\$973.72	\$230.86	\$923.44
Angle Ball Valve 90 Degree 3/4" Curb Stop Comp x Meter Swivel Nut	60 each	\$56.19	\$3,371.40	\$89.42	\$5,365.20
Angle Ball Valve 90 Degree 1" Curb Stop Comp x Meter Swivel Nut	40 each	\$142.08	\$5,683.20	\$134.20	\$5,368.00
Straight Meter Valve 1" Straight Comp x Meter Swivel Nut	40 each	\$127.32	\$5,092.80	\$120.08	\$4,803.20
Angle Ball Valve 1-1/2" 90 Degree Flanged x Comp	1 each	\$326.09	\$326.09	\$279.86	\$279.86
Straight Meter Valve 1-1/2" Straight Flanged x Comp	2 each	\$226.63	\$453.26	\$216.25	\$432.50
Angle Ball Valve 2" 90 Degree Flanged x Comp	10 each	\$413.59	\$4,135.90	\$356.71	\$3,567.10
Straight Meter Valve 2" Straight Flanged x Comp	10 each	\$382.99	\$3,829.90	\$366.36	\$3,663.60
3/4" Meter Riser 12"	2 each	\$122.56	\$245.12	\$113.71	\$227.42
3/4" Meter Riser 6"	2 each	\$116.94	\$233.88	\$108.51	\$217.02
1-1/2" Meter Flange Kit with 5/8" x 2-1/2" Bolt	4 each	\$97.55	\$390.20	\$58.14	\$232.56
2" Meter Flange Kit with 5/8" x 2-1/2" Bolt	60 each	\$105.86	\$6,351.60	\$62.17	\$3,730.20

1-1/2" Meter Flange Gasket	20 each	\$1.27	\$25.40	\$0.75	\$15.00
2"FIP x Flange (4 Bolt)	10 each	\$27.51	\$275.10	\$13.71	\$137.10
1-1/2" FIP x Flange (2 Bolt)	10 each	\$41.08	\$410.80	\$60.83	\$608.30
2" FIP x Flange (2 Bolt)	10 each	\$43.11	\$431.10	\$60.83	\$608.30
1-1/2" MIP x Flange (2 Bolt)	10 each	\$10.26	\$102.60	\$60.83	\$608.30
2" MIP x Flange (2 Bolt)	10 each	\$9.02	\$90.20	\$60.83	\$608.30
Series 900 Adapter Flange 3"	6 each	\$43.20	\$259.20	\$141.05	\$846.30
Series 900 Adapter Flange 4"	6 each	\$67.63	\$405.78	\$176.11	\$1,056.66
Series 900 Adapter Flange 6"	6 each	\$85.71	\$514.26	\$224.88	\$1,349.28
Series 900 Adapter Flange 8"	6 each	\$119.31	\$715.86	\$308.68	\$1,852.08
Series 900 Adapter Flange 12"	6 each	\$232.31	\$1,393.86	\$621.47	\$3,728.82
2" Meter Flange Gasket	100 each	\$1.60	\$160.00	\$0.90	\$90.00
3/4" x 2" Length	350 each	\$12.17	\$4,259.50	\$11.29	\$3,951.50
1" x 2" Length	200 each	\$18.20	\$3,640.00	\$16.89	\$3,378.00
1" x 1/8" - Rubber	500 each	\$0.19	\$95.00	\$0.10	\$50.00
3/4" x 1/8" - Rubber	1000 each	\$0.16	\$160.00	\$0.09	\$90.00
3/4" x 1/16" - Fiber	500 each	\$0.16	\$80.00	\$0.10	\$50.00
1"- Fiber	500 each	\$0.18	\$90.00	\$0.40	\$200.00
			_		
Mueller Fire Hydrant Repair Kit 5-1/4" M.V.O.	4 each	\$245.43	\$981.72	\$672.37	\$2,689.48
Watrous Repair Kit	4 each	\$267.74	\$1,070.96	\$312.64	\$1,250.56
M&H Fire Hydrant Repair Kit	4 each	\$254.53	\$1,018.12	\$200.87	\$803.48
East Jordan Fire Hydrant Repair Kit	2 each	\$305.25	\$610.50	\$249.44	\$498.88
Clow Fire Hydrant repair kit	4 each	\$237.99	\$951.96	\$192	\$768
Kennedy Fire Hydrant repair kit	2 each	\$228.08	\$456.16	\$206	\$412
American Darling Fire Hydrant repair kit	2 each	\$264.44	\$528.88	\$170	\$340
Waterous Valve Seat Assembly	4 each	\$1,034.30	\$4,137.20	\$889.15	\$3,556.60
3/4" X 100' Type K Soft Copper	8 roll	\$756	\$6,048.00	\$980.06	\$7,840.48
1" X 100' Type K Soft Copper	4 roll	\$1,003.00	\$4,012.00	\$1,301.55	\$5,206.20
1-1/2" x 60' Type K Soft Copper	1 roll	\$1,290.00	\$1,290.00	\$2,073.90	\$2,073.90
2" x 40' Type K Soft Copper	1 roll	\$1,320.00	\$1,320.00	\$3,181.88	\$3,181.88
3/4" X 60' Type K Soft Copper	15 roll	\$453.60	\$6,804.00	\$980.06	\$14,700.90
1" X 60' Type K Soft Copper	8 roll	\$601.80	\$4,814.40	\$1,301.55	\$10,412.40
3/4" x 100' Endotrace Poly	25 roll	\$149	\$3,725.00	\$127.84	\$3,196.00
1" x 100' Endotrace Poly	25 roll	\$165	\$4,125.00	\$143.30	\$3,582.50
4x4 Clay to PVC	20 each	\$4.49	\$89.80	\$5.07	\$101.40
4x4 PVC to PVC With Shear ring	40 each	\$28.35	\$1,134.00	\$24.90	\$996.00
4X4 F VC tO F VC VVILLI SHEGI THIS					T

4x6 PVC to PVC	2 each	\$14.23	\$28.46	\$12.71	\$25.42
6x4 Clay to PVC	2 each	\$14.23	\$28.46	\$12.71	\$25.42
6x4 PVC to PVC	2 each	\$14.23	\$28.46	\$12.71	\$25.42
6x6 Clay to PVC	10 each	\$10.46	\$104.60	\$12.71	\$108.20
•	10 each	\$53.99		\$10.82 \$47.41	
6x6 PVC to PVC With Shear ring		· ·	\$539.90	· ·	\$474.10
8x8 Clay to PVC	10 each	\$16.21	\$162.10	\$16.64	\$166.40
8x8 PVC to PVC With Shear ring	10 each	\$80.15	\$801.50	\$70.39	\$703.90
4" PVC Rubber Cap	5 each	\$3.15	\$15.75	\$2.96	\$14.80
4" PVC SDR 35 2-way Clean Out	20 each	\$54.28	\$1,085.60	\$47.63	\$952.60
4" PVC SDR 40 2-way Clean Out	20 each	\$43.35	\$867.00	\$18.77	\$375.40
4" PVC Bushing Sch 40 to SDR-35	50 each	\$5.59	\$279.50	\$11.06	\$553.00
4 40 0 11 01 5	2	44.64.70	d222.44	466.00	4422.50
4 x 12 Cast Iron Sleeve w. Exc	2 each	\$161.72	\$323.44	\$66.29	\$132.58
6 x 12 Cast Iron Sleeve w/Exc	2 each	\$248.12	\$496.24	\$111.01	\$222.02
8x12 Cast Iron Sleeve w/Exc	2 each	\$350.03	\$700.06	\$177.84	\$355.68
10x12 Cast Iron Sleeve w/Exc	2 each	\$443.82	\$887.64	\$212.87	\$425.74
12x12 Cast Iron Sleeve w/Exc	2 each	\$549.42	\$1,098.84	\$286.69	\$573.38
16x16 Cast Iron Sleeve w/Exc	4 each	\$1,005.78	\$4,023.12	\$547.52	\$2,190.08
2" Coupling Hymax or Approved Equal	2 each	\$144.02	\$288.04	\$115.31	\$230.62
4" Coupling Hymax or Approved Equal	2 each	\$243.46	\$486.92	\$190.88	\$381.76
6" Coupling Hymax or Approved Equal	8 each	\$322.44	\$2,579.52	\$252.02	\$2,016.16
8" Coupling Hymax or Approved Equal	8 each	\$364.04	\$2,912.32	\$285.41	\$2,283.28
10" Coupling Hymax or Approved Equal	4 each	\$495.16	\$1,980.64	\$363.17	\$1,452.68
12" Coupling Hymax or Approved Equal	8 each	\$661.29	\$5,290.32	\$443.75	\$3,550.00
16" Hymax or Approved Equal	4 Each	\$1,513.99	\$6,055.96	\$1,395.75	\$5,583.00
24" Hymax or Approved Equal	2 each	\$2,048.22	\$4,096.44	\$1,815.97	\$3,631.94
4" maxadapter for sewer repairs	10 each	\$91.93	\$919.30	\$62.50	\$625.00
6" maxadapter for sewer repairs	8 each	\$136.92	\$1,095.36	\$92.05	\$736.40
8" maxadapter for sewer repairs	8 each	\$180.44	\$1,443.52	\$121.59	\$972.72
12" maxadapter for sewer repairs	4 each	\$270.46	\$1,081.84	\$181.82	\$727.28
6" anchor 90	4 each	\$318.28	\$1,273.12	\$239.68	\$958.72
6"anchor nipple	4 each	\$272.49	\$1,089.96	\$205.20	\$820.80
Foster adaptor 6" & 8"	4 each	\$133.08	\$532.32	\$215.35	\$861.40
6" Mega Lug Restraint Kit, Universal	8 each	\$124.18	\$993.44	\$66.77	\$534.16
8" Mega Lug Restraint Kit, Universal	8 each	\$147.58	\$1,180.64	\$89.93	\$719.44
10" Mega Lug Restraint Kit, Universal	2 each	\$235.60	\$471.20	\$156.70	\$313.40
12" Mega Lug Restraint Kit, Universal	4 each	\$243.93	\$975.72	\$164.27	\$657.08
14" Mega Lug Restraint Kit, Universal	1 each	\$344.13	\$344.13	\$259.09	\$259.09
16" Mega Lugs	1 each	\$301.63	\$301.63	\$267.80	\$267.80
4" Sewer Tapp Fits 4"-12"	10 each	\$56.63	\$566.30	\$41.70	\$417.00
• • • • • • • • • • • • • • • • • • • •		, , , , ,	,	, -	

4" Cast Iron Clean-out Boot with 2 bolts	50 each	\$81.34	\$4,067.00	\$73.53	\$3,676.50
Schedule 40 22 1/2 degree 4" coupling	50 each	\$20.28	\$1,014.00	\$6.46	\$323.00
Schedule 40 45 degree 4" coupling	50 each	\$16.44	\$822.00	\$7.64	\$382.00
Sanitary sewer rings for 24" with "Lewisville" mh cover 300 and 400	20 each	\$740.95	\$14,819.00	\$725.67	\$14,513.40
Sanitary sewer lids for 24" for replacement with "Lewisville" on mh cover	20 each	\$371.61	\$7,432.20	\$363.95	\$7,279.00
24" Lid risers 2" with 24" manhole ring	4 each	\$973.27	\$3,893.08	\$87.02	\$348.08
24" Lid risers 4"	4 each	\$717.61	\$2,870.44	\$119.85	\$479.40
24" Lid risers 6"	4 each	\$790.34	\$3,161.36	\$150.77	\$603.08
30" Sanitary sewer ring	10 each	\$300.03	\$3,000.30	\$293.85	\$2,938.50
30" Sanitary sewer Lid with "Lewisville" on mh cover 300 and 400	10 each	\$348.12	\$3,481.20	\$340.94	\$3,409.40
6" C900 Water Pipe DR 18Class 150PVC	100 foot	\$11.12	\$1,112.00	\$9.65	\$965.00
8" C900 Water Pipe DR 18 Class 150 PVC	100 foot	\$19.06	\$1,906.00	\$16.57	\$1,657.00
12" C900 Water pipe DR 18	100 foot	\$40.29	\$4,029.00	\$35.03	\$3,503.00
16" C900 DR 18	40 foot	\$80	\$3,200.00	\$45.11	\$1,804.40
4" Sewer SDR 35 Pipe	200 foot	\$2.16	\$432.00	\$1.89	\$378.00
6" SDR 35 pipe	100 foot	\$4.97	\$497.00	\$4.32	\$432.00
8" SDR 35 Pipe	100 foot	\$9.03	\$903.00	\$7.84	\$784.00
10" SDR 35 Pipe	100 foot	\$14.04	\$1,404.00	\$12.20	\$1,220.00
12" SDR 35 Pipe	100 foot	\$20.21	\$2,021.00	\$17.55	\$1,755.00
Mueller Fire Hydrant 5' Bury	2 each	\$3,346.70	\$6,693.40	\$2,795.16	\$5,590.32
Waterours Fire Hydrant 5' Bury	2 each	\$3,323.82	\$6,647.64	\$2,717.31	\$5,434.62
3/4" Mueller SS Insert for Polybutelyne Ford or Approved Equal	25 each	\$2.31	\$57.75	\$1.16	\$29.00
1" Mueller SS Insert for Polybutelyne Ford or Approved Equal	25 each	\$2.44	\$61.00	\$1.18	\$29.50
2" Mueller SS Insert for Polybutelyne Ford or Approved Equal	25 each	\$3.36	\$84.00	\$1.65	\$41.25
Mueller Fire Hydrant 4' Bury	2 each	\$3,147.31	\$6,294.62	\$2,671.18	\$5,342.36
Waterours Fire Hydrant 4' Bury	2 each	\$3,125.91	\$6,251.82	\$2,644.78	\$5,289.56
Mueller Fire Hydrant 3' Bury	2 each	\$3,054.27	\$6,108.54	\$2,546.95	\$5,093.90
Waterours Fire Hydrant 3' Bury	2 each	\$3,033.73	\$6,067.46	\$2,518.49	\$5,036.98
1" Residential Meter Box p/n DFW37CSBSM	75 each	\$62.77	\$4,707.75	\$102.57	\$7,692.75
2" Commercial Meter Box p/n DFW65CSBSM	50 each	\$127.80	\$6,390.00	\$197.41	\$9,870.50
3/4" Meter Box Lid p/n DFW36CSBSM	100 each	\$36.21	\$3,621.00	\$36.67	\$3,667.00
1" Meter Box Lid p/n DFW37CBSM	50 each	\$47.78	\$2,389.00	\$48.39	\$2,419.50
2" Meter box lid DFW65C-LID	25 each	\$84.97	\$2,124.25	\$86.06	\$2,151.50
3/4" MetersBoxes are DFW 36C - 12 - body 45DFW36C12 15x11x12 black	100 each	\$53.57	\$5,357.00	\$49.70	\$4,970.00
6" Gate Valve flange X flange	2 each	\$956.26	\$1,912.52	\$847.28	\$1,694.56
6" Gate valve flange X MJ	2 each	\$920.84	\$1,841.68	\$815.91	\$1,631.82
6" Gate Valve MJ X MJ	4 each	\$920.84	\$3,683.36	\$851.91	\$3,407.64
8" gate valve flange X flange	2 each	\$1,494.32	\$2,988.64	\$1,324.03	\$2,648.06

		_	_		
8" gate valve flange X MJ	2 each	\$1,438.96	\$2,877.92	\$1,274.97	\$2,549.94
8" gate valve MJ X MJ	4 each	\$1,466.61	\$5,866.44	\$1,774.14	\$7,096.56
10" gate valve MJ X MJ	1 each	\$2,286.72	\$2,286.72	\$2,026.13	\$2,026.13
10" Gate Valve MJ X Flange	1 each	\$2,286.72	\$2,286.72	\$2,026.13	\$2,026.13
10" Gate Valve Flange X Flange	1 each	\$2,374.63	\$2,374.63	\$2,104.02	\$2,104.02
12" gate valve MJ X MJ	2 each	\$2,893.53	\$5,787.06	\$2,573.07	\$5,146.14
12" Gate Valve MJ X Flange	2 each	\$2,760.82	\$5,521.64	\$2,446.20	\$4,892.40
12" Gate Valve Flange X Flange	2 each	\$2,867.02	\$5,734.04	\$2,540.30	\$5,080.60
3" Flange Pack	6 each	\$10.03	\$60.18	\$5.64	\$33.84
4" Flange Pack	6 each	\$14.02	\$84.12	\$9.13	\$54.78
6" MJ Kit (Bolt & Gaskets)	10 each	\$30.83	\$308.30	\$18.19	\$181.90
8" MJ Kit (Bolt & Gaskets)	10 each	\$32.88	\$328.80	\$20.46	\$204.60
12" MJ Kit (Bolt & Gaskets)	10 each	\$47.71	\$477.10	\$28.20	\$282.00
6" Flange Pack	10 each	\$18.55	\$185.50	\$13.83	\$138.30
8" Flange Pack	10 each	\$19.02	\$190.20	\$20.87	\$208.70
10" Flange Pack	10 each	\$38.49	\$384.90	\$32.86	\$328.60
12" Flange Pack	10 each	\$42.57	\$425.70	\$40.59	\$405.90
16" Flange Pack	4 each	\$119.05	\$476.20	\$70.95	\$283.80
2" valve box risers dom/ import	20 each	\$35.38	\$707.60	\$17.69	\$353.80
4" valve box risers dom/ import	20 each	\$49.23	\$984.60	\$28.74	\$574.80
6" valve box risers dom/ import	20 each	\$70.77	\$1,415.40	\$41.05	\$821.00
Dom Shorty Valve Box w/ lid dom/ import	20 each	\$71.69	\$1,433.80	\$42.70	\$854.00
Valve stack lids dom/ import	20 each	\$18.46	\$369.20	\$12.32	\$246.40
5 1/4" Screw Type 27"-37" W/Lid, Part# 562-S	20 each	\$110	\$2,200.00	\$73.90	\$1,478.00